A & 0l & AFE B Al A

20259 204 28 A FEXE XZAYE X013 &X

SA OIE X
TE: SRS ATHI SR A
ol BIEA BN BADID(LEA FHXA XA SXDI2) (Eiol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Ol LA X1 2 807,000 1,841,000 21,034,000
St HAFHIA X2 A 800,000 1,840,000 21,040,000
YA FHIA B3 (LA FEIS NEMNE & 800,000 1,840,000 1,040,000
x128)
EEdE=IN = 800,000 1,840,000 1,040,000
501 X2 800,000 840,000 240,000
01 2Itskt= 800,000 840,000 240,000
FU=X & JIgsx X 800,000
Glfalle] 7,000 1,000 6,000
OlbBI(2 A FHXA XA EX01S) 7,000 1,000 6,000
oligldl 7,000 1,000 6,000
801 OdHIbl 7,000 1,000 6,000
(==Ll a]a] 7,000 1,000 6,000

ol 7,000




